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' DIRECTIONS TO CANDIDATES: . |

" All questions may be attempted.

In every question, show all necessar’y'Working-. :
Marks may not be awarded for careless or badly amranged work.

-Approved silent calculatars miay be used. C )
The answers to the four questions in this paper are to be returned in separate
bundles clearly marked Question 1, Question 2 efc. ’ Co
Each bundle must show the candidate’s computer mumber.
Start each question on a new page. : L
The questions are not necessarily dranged in order of difficulty. Candidates are ,
advised to read the whole paper carefully at the start of the examiination,
Unless otherwise stated candidates should leave their answers in simplest exact
form. ‘

Outcomes to be Assessed :

P3 Performs routine arithmetic and algebraic manipulation involving surds,
simple rational expressions and trigonometric identities, :

P35 Understands the concept of a function and the reiation,éhip bétweén a
fonction and its graph. : S

PE3  solves problems mvolving permutations and combinations, inequalities,

polynomials, circle geometry and paramietric representitions.-
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QUESTION ONE (13 Marks) Marks
(a)  Simplify: —3x* x4x? 1
(b)  Factorise @ x*~8x-9 142+2
(1) 6% - 54xy”
()  (x+h)Y -1
. 3 2
Simplify: _— 3
© e lfy, B -4 K -3k+2
- 5 3
(d) Solve forx: —4+—=2 2
x 2x
(e Ifs=%(u +v)t,fmd . 2
QUESTION TWO (13 Marks) Starta new page
() Write 0.00000725 number in scientific notation. 1
(b) Express 0- 2% 7 as a fraction in lowest terms. 2
(c) Solve the following pair of simultaneous equations: 2
3x—y=5
5x+3y=-8
(D Express with a rational denominator:
14
® = 242
V7
@ 22
RN
(e) If x=+/5-2 , find the value of ¥ +2x , €Xpressing your answer with a 4
) x+
rational denominator.
Question Three on Page 2 ...
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QUESTION THREE (10Marks) Start a new page Marks
(a) State the natural domain of each of the following functions: 2
. . 1 .. .
O == ) fD=+2x+3
x+2 :
®) Sketch each of the following, showing any intercepts with the axes, 8

asymptotes or vertices:

@) y=+25-x" (@) y=3"+2

&

i)  y=—(x=2f+3 () y=—t

x—

-1
4

QUESTION FOUR (I2Marks) Start a new page

(@& @ ‘Solve for x if l2x—5] =3 2
(i)  Solve for x-if [8x~9|=5x ' 3

(b) By first factorizing the LHS, find the solution for 3x? — 285 +25>0 2

x+1 , x20
(©) If f(x) = then f(0) equals: 2
1
— , x<0
x
(@ Test if the function f(x) = 3 3x = 1s odd, even or neither 2
+Xx7
(e) Find the largest possible domain of x = —/4 — »? 2

END OF PAPER
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A QUESTION TWO (13 Marks) Start a new page
QUESTION ONE (13 Marks) Marks* _
: (a) Write 0.00000725 number in scientific notation. 1 {
(a) Simplify: —3x% x4x® 1 S =725x10" .
= _19.5 ..
12z (b) Bxpress 0-257 as a fraction in lowest terms. . 2
(6)  Factorise ()  x’—8x-9 ‘ 1242 : 10x0-257 =2.575757....
= -9+ ' 1000%0-257 = 257.5757...
. . A s5 255 17
(i) 6x3—54xy2 % 2 990x%0-257 =255 . 0 257fﬁ—66
- Gl-9p) | hiEat, |
= 6x(x— 3yXx + 3y) . . .
_— (c) Solve the following pair of simultaneous equations:; 2
) Ce+ny’ -1 ' ' 3%x-y=5 )
RO y 1
) S5x+3y=-8 ii I l—p=5
= [en) -1t A + (e y (i) 5]y -
= —1¥x? - 2 L
= (x+hr-1)x 2xh+h +x+h+1) 9x-3y =15 (i3 @J—S:y
l4x=7 add
" 3 2 1 ‘ =7
Simplify: —_— 3 x== . =_1
© Sl e TE 2 ap
_ 3 2
- (k- 2)(k + 2) (k - 2)(k ~1) (d)  Express with a rational denominator:
3(k—1)-2(k +2) ‘ S G I VN 27 2i
(k= 2)k +2)k ~1) T T T : ' _ ?wi:é
\ Al
2 . \
) e 4 @ -2 _ 3Va5+va)  3io4s  3i0+s T2 /\-{? (A
Iy ry ey Vs-v2 (5-V2[5442) | 5-2 3 ol
- : ¥ +2x . . (’/
@ Solve for x- % + % -2 2 (& Ifx=+5- 2, find the value of 3 EXpressing your answer with a 4 -
. rational denominator,
z / -z
et~ PEE O O | (5-2)"r 2l
2x  2x  2x _ 4 4 = Cy;—_z>1-3
= S-usTY F295 Y .
1 . TR pboudye '
(&) Ifs=5(u+v)t,fmd . 2 - 5.2 G5
ver GE)
25 =(u+ )i 2s_ (u+ v) U= s v SYF -5 -10t275. Question Three on Page 2 ...
S =\U+vy ; = it P —_ =)

—_ —15
- s

y
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F OQUESTION THREE (70Marks) Start a new page
ing £ i . 2.

State the natural domain of each of the following functions

(@
@ f( )“— ‘ ()  fx)=+2x+3
: a2 ?d (”’*"//"‘”D : ’72'*22; ?3 '_
Z fote _ i

- AU @ M_;;/_d.-z.‘ =z |

@ m\—\g .;ox— S\*QFQ

? 3

i) "y=—(x-2)
/:ﬂfam?z— zo y=3

R-Mitii g F

«.(a) s

b= —['z-z) +3

(
o= /3
T;—z*r

@ mo«\—\z J\“.a\-
Comenye dowsmy, Parabely

CD T'ﬁcr\t Trbr U-ta.rlﬂaa.g .
anch b—\n%-e.\—r:o_FJ— I/

No reaeR &aciu:éred
for inearreck —;Q—\n\?_v:o_‘s\s

- *QFQQFA“S
('D“:\\:s\m%

-

4
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QUESTION FOUR (12Marks) Start a new! page

o '(.i). “Solve for x if [2v 5!
A 255 ) =3

] Assessment 1 2009 -

Lithor 2n-5 =3
sy 25 = -3
> =y 2T =2
- o=

(i)  Solve for x if [8x~9|=5x

Tgn-4-57 ~(px-9) =%
Ty = q 2¥-9 =%
—,g'a 132 =4

' By first factonzmg the LHS, find the solutlon for 3x* —28x+25>0

(&)
. 632—2%*3" N >o

>r - )
”“e‘.”if‘**/ m = %A ’\?4&3 g \
b \')J

. 25"
ANS x <l PR TTH
N x>0
(c) If f(x) : then 7(0) equals:

e

is odd, even or neither
3=

/ﬁn—;{;)::/. F4at

.  ? %/g jf//

Test. 1f the function ¥(x) =

//—z) £

3}(—7)
Find the largest possible domain of x =4 -y

s

(ci‘j' |

3+a’ Even
2

©)
cos1d o :
%=y’

76:17?:9

Bt /’{:—

57

//z) = //z)

cirole pad 2. ) . »
Cewtrt ﬂ/"j"’? ' )

é é
* z
END OF PAPER
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